#1 IERE

S =2 | 7% B iE
FANE vi V9 | e Lod Blg me g
vi 16 | AEHE X Vit K&
H1E 12 (1.1) (1.2)
T3 (1.1) (1.2)
1 10 (1.42) (1.43)
2w 21 7 NLEE S ANZEAL
25 16 M M
30 T3 ow Aw
B3 32 5 11 B2
37 12 sz &R
40 T2 (3.54) (3.53)
41 16 (3.53) (3.56)
44 5| Ny AR | Ny R
B4 48 T3 23 ZENH
53 1 10 (4.5) (4.15)
5 55 T2 4.1 5.1
56 ™1 1.4 &M 1.4
57 T1 55 1 RN 5 2 RH1
58 I 10 (5.3) (5.4)
63 | 14 AD AD
65 112 T —y- Ty
65 I 14 (14/44) (5.44)
6w 71 T8 (4.78) (6.19)
73 7 (4.99) (6.29)




# 2 IEK

= | f7H B 1t

9T 76 13 FRT Biti

77 T3 (7.4) (7.3)

81 T (7.9) (7.18)

82 1 (7.9) (7.18)

82 19 (7.9) (7.18)

85 T8 WTWwX WTWL B K

86 110 XA A A X

93 l6 AT 7 A NT T

94 L1 1-4 1~4

100 16 (7.9) (7.18)

101 14 (7.46) (7.47)

101 15 (7.46), (7.47) (7.47), (7.48)

102 12 (7.51), (7.52) (7.54), (7.55)

102 14 (7.50), (7.48) (7.51), (7.49)

103 1 (7.57) (7.58)

103 15 (7.49), (7.60) (7.50), (7.61)

104 5 (7.60) (7.61)

104 T9 (7.64) (7.65)

104 16 (7.65), (7.66) (7.66), (7.67)

104 13 | (7.68), (7.69), (7.70) | (7.69), (7.70), (7.68)

104 T1 (7.64) (7.65)




#3 IRk
R=2 | 7% B 1E
WTE | 105 L3 | 10,11 % 1,28
105 15 W11 = 2w
105 T 11| (7.71), (7.72) | (7.72), (7.73)
105 T4 | (7.73), (7.74) | (7.74), (7.75)
105 T2 (7.75) (7.76)
106 12 (7.79) (7.80)
BS8E | 111 ) JaB Iap
114 110 9.1 8.1
116 110 KIBDIZ S
118 ™1 8.2 8.3
119 13 (9.52) (8.52)
120 13 | (7.42), (7.43) | (7.60), (7.61)
Fowm | 127 T3 Rye™tdt Ryeit
127 T1 | Coettedt Coeiwtta
128 V7 | B23%7:LE BZHEE




F 4 IEE

i = | 7% B 1E

%10 134 T1 F3 Dl Kl
137 T9 KXo vy 10.5 D V;
138 7 B Fic
142 | 19 iy + B(s) T Bs)
143 110 (2.11) (10.12)
146 T1 wedHT 5 wead s
147 T3 10.8 10.9
148 7 10.8 10.9
149 T4 10.9 10.10
150 T3 10.10 10.11
151 T2 10.1 10.8
151 T2 10.23 104 71y 7 #X
151 T2 10.24 10.12
152 113 Ger Ger
154 12 05(ts) 0s(s)
156 L7 10.9 10.16
156 7 10.9 10.16
157 11 Ccdf; Copes
157 19 WL T fiREL T
157 | 112 (10.37) (10.57)
157 T 9 | (X10.10), X 10.10 (X1 10.5), [ 10.17
157 T5 Jip Ghp
157 T4 (10.38) (10.57)
157 T2 10.8 10.15




=2 | 18 ES 1E

164 T8 % 5

164 15 o o

164 T3 o o

165 19 (11.10) (11.12)

165 | | 10 oL (%)

o | 2| (-a) | (-4 ()
168 18 (11.2) (11.32)

168 13 iz X

168 T1 A 13 TN

171 19 (9.29) (11.12)

173 T5 H=—L %2%212_215

173 12 (11.66) (11.67)

176 12 (7.29), (7.30) (7.47), (7.48)

177 12 | (11.70), (11.73), (11.70) | (11.71), (11.74), (11.71)
177 18 (11.75) (11.76)

177 T4 (11.76) (11.77)

177 13 (11.77), (11.75) (11.78), (11.76)
177 T2 | (11.76), (11.77), (11.75) | (11.77), (11.78), (11.76)




=Y | 1K ) iE

178 | L5 (11.78) (11.79)

178 | 18 (11.79) (11.80)

178 | 110 (11.77) (11.78)

178 | 14 (11.81) (11.82)

179 | L5 | (11.84), (11.85), (11.72) | (11.85), (11.86), (11.73)
181 | 110 (11.91) (11.92)

182 | 14 (11.92), (11.95) (11.93), (11.96)
182 | 18 (11.95) (11.96)

183 | 11 (11.76) (11.77)

184 | 18 | (11.109, (11.74), (11.110) | (11.110), (11.75), (11.111)
184 | 17 (11.76), (11.109) (11.77), (11.110)
184 | 16 (11.74), (11.110) (11.75), (11.111)
18 | 16 (11.114), (11.115) (11.115), (11.116)
186 | |4 (11.118), (11.119) (11.119), (11.120)
186 | 14 (11.122) (11.123)

186 | 12 (11.124), (11.120) (11.125), (11.121)
187 | 111 (11.128), (11.117) (11.129), (11.118)
187 | 16 (11.74) (11.75)

18 | L5 (11.81) (11.82)

188 | 18 (11.110) (11.111)

188 | 110 (11.126) (11.127)

18 | 17 (11.133) (11.134)




T OHE 1 E K
<=2 | i B ik

189 T2 (11.145) (11.146)

189 T1 (11.147) (11.148)

190 12 (11.130) (11.131)

190 15 (11.149) (11.150)

190 T2 t t

191 I 2 | (11.150), (11.151) | (11.151), (11.152)
191 T 7 | (11.150), (11.130) | (11.153), (11.131)
191 16 (11.148) (11.151)

191 15 (11.149) (11.152)

192 | 111 | (11.153), (11.130) | (11.154), (11.131)
192 | 111 (11.130) (11.131)

192 | 110 (11.153) (11.154)

192 T4 | (11.130), (11.131) | (11.131), (11.132)
193 11 (11.130) (11.131)

193 | 111 (11.153) (11.154)

194 19 | (11.130), (11.131) | (11.131), (11.132)
194 T8 (11.163) (11.164)

194 7 (11.164) (11.165)

198 T2 | (11.171), (11.172) | (11.172), (11.173)
199 13 | (11.169), (11.170) | (11.170), (11.171)
199 I 4 (11.175) (11.176)




%8 EmE

H = | 7% ) 1k
%12 201 | ) 11| (12.2) | (12.4)
202 | 110 | (12.12) | (12.13)
202 T2 | (12.15) | (12.16)
210 T8 | (12.24) | (12.25)
210 T4 | (12.76) | (12.77)
211 L7 | (12.37) | (12.39)
211 L7 |ng=8|n =8
211 18 | (12.38) | (12.39)

212 16 P P

212 15 d P
212 16 | (12.34) | (12.36)

212 T2 P P

212 T P P

213 13 d P

213 16 d P

213 17 d P
213 T2 | (12.53) | (12.54)




£9 IFHE

A = | B iE

HI13E | 217 5 12.4 13.1
223 12 12.6 13.3
230 16 12.4 13.4
231 13 Gs Gk
231 15 Gs Gk
231 T1 Gg Gk
232 3 Gs, |Gs| Gk, |Gkl
233 T3 Hil AR G B A

014 241 110 and &
246 T8 (14.24) (14.26)
246 16 (14.26) (14.27)
248 T TR G R G

BI15E | 267 15 B T | B R
272 I8 AND NAND
272 19 =XY =NOR=X-Y
278 ! 8 Ao, x, A oz,
278 112 15.21 15.23
279 11 (15.72) (15.73)
280 113 15.22 15.24
280 | *28 | 1 FwvnT FwT
281 11 (15.) (15.51)
284 l 6 Ecfa ol




10

£ 10 IEHE#E
A =2 | 7% B2 iE
286 T5 w % w D
292 T8 15.24 15.25
292 T8 (15.75) (15.78)
292 T3 15.24 15.26
292 T1 (15.71) (15.74)
REHENVE 295 L1 | REDEVE | HENE
295 12 55 1148 &
295 | | 10 FERRELR R R
295 V12 | JERREIEGR | JERVEEGR
296 V7| JERRBIR | JERUEBIR




